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main 95193593496x
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Try again(y/n)?
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Input N:
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Input N:
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NB. Cubic Root / Manual Calc. simulated in J Window
NB. programmed by T.N. 2012/11/11

NB. revised 2012/11/14,11/16

wr =: 1:2&2

rd =: 1!:1

VA =:95193593496x
VB =: 48627125

VC =: 28372625

VD =: 225866529x
VE =: 248858189x

sub=:3:0

TPN' =.y.

wr'J: ", "] = N+ (107)
wr'K:',""K="N+N+J
wr'P:", " P=.100*P
wr'Q:,"Q=xN*J
wr'Ri,"R=xP+Q
wr'S:, " S=x:Q+ R+ (N'N)
K, S, (R'N)

)

CU=:0,1,8,27, 64,125, 216, 343,512, 729 NB. revised 11/16
NB. Select N version == 2012/11/12

main=:3:0

wr A_init =. 1000 #.~:(_1) y.

W =
AO =. { A_init
AO1 = }. A_init

NO=. _1i"*A0-CU
wr 'N: ", ": NO =. <: NO
A02 =. A0 - (NO){CU

A10 =. {. AO1
All =.}. AO1

IT =. (3*'NO), (3*'NO*NO)
wr'l, SO: ', " II
wr AQ



wr (NO*NO'NO)
wr Al =. AO - (NO'NO*NO)

Al = (A1*1000) +{. AO1

WT
wr 'Al: ", " Al

NN =."

label_loop.

wr 'Input N:'

N="rdl1

if. N = 0 do. "™ quit ™ return. end.
SUB =. sub II, N

RN =. {: SUB

A20 =.x: A1 -RN

if. 0 > A20 do. PN =. ' negative !" else. PN =. " end.
wr (": A20), PN

wr "Try again(y/n)?"

YN =1d 1

if. 0 = #YN do. goto_ok. end.

if. 'y’ = YN do. goto_loop. else. goto_ok. end.
label_ok. NB. N is OK!

Il = }: SUB
NN =. NN, N
Wr T

if. 0 = # Al1 do. goto_fin. end.

wr'A2: ", " A2 = x: (A20 ¥ 1000x%) + {. A11
Al = A2

All =} A1l

goto_loop.

label_fin.

'Cubic Root ="', ((":NO), (":NN)) -. "'

)
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NB. Windows Version

NB. usage:

NB. (1) Input Value in [Value] EditBox: e.g VA, VB, VC, 28372625, ..
NB. (2) Push [Va_Set] Button => display Value

NB. (3) Push [Test] Button => Display First Applicant & stored

NB. (4) Push [Start] Button => Calc. & Display First calc.

NB. (5) Push [Test] Button => Display Second Applcant & stored
NB. (6) Push [Next] Button => Calc. & Display Second calc.

NB. Repeat (5) and (6), then go on Calc.

NB. Finally, Calc. will reach Cubic Root

~—~ A~~~ —~

require 'gl2'

ROOT=:0:0

pc root;pn "Cubic Root";

menupop "File";

menu new "&New" """ "";

menu open "&Open" " " "";

menusep ;

menu exit "&Exit" """ "";

menupopz;

xywh 241 8 34 12;cc Test button;

xywh 242 142 34 12;cc cancel button;cn "Exit";

xywh 4 29 232 216;cc CubicRoot isigraph;

xywh 241 30 34 11;cc VaSet button;

xywh 6 10 50 11;cc InN edit ws_border es_autohscroll;
xywh 241 61 34 11;cc Next button;

xywh 65 9 50 11;cc CbRt edit ws_border es_autohscroll;
xywh 135 9 97 11;cc InValue edit ws_border es_autohscroll;
xywh 241 45 34 11;cc Start button;

pas 6 6;pcenter;

rem form end;

)

run =: root_run
root_run=: 3 : 0

wd ROOT

NB. initialize form here
wd ‘pshow;'
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wd 'setfocus InValue;'
NN =:"
)

root_close=:3:0
wd'pclose’

)

root_cancel_button=: 3 : 0
root_close"

)

NB. test applicant display ==============
NB. required tsubO, tsub, tdisplay
root_Test_button=: 3: 0
™D =,"
select. TN
case. 0 do. AA =. AO
case. 1 do. AA = Al
end.
NI=1
while. NI < 10
do.
select. TN
case. 0 do.
Res =. tsub0O NI
RR =. AO - Res
case. 1 do.
Res =. (II, A1) tsub NI
RR =. A1 - ({: Res)
end.
NB. wr NI, RR
TD =: TD, (NI, RR)
NI= NI+1
end.
TF = (*{:"(1) TD)1i. _1
TEXT =:, (": TD),"(1) LF
TTEXT =:'N = ",(":TF), LF, TEXT
wd 'setfocus InN;'
tdisplay "
N=TF
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tdisplay =: 3: 0

wd 'pc testapl;pn "Applicant N";'

wd 'xywh 8 6 80 8;cc sO static;cn "Select N:";'
wd 'xywh 8 15 100 100;cc e0 editm ws_border;'
wd 'set e0 ", TTEXT

wd 'pas 8 8;pcenter;pshow;wait;'

wd 'pclose;'

)

tsub0 =:3:0

N-=y.

NB. ((<:N){CU)

N{CU

)

tsub=:3:0

N=.y.

TPA =x
NB.wr L, P, A

J =N+ (107)
K=N+N+1J
P=.100*P
Q=N*J
R=P+Q
S=Q+R+ (NN)
K, S, (R'N)

root_VaSet_button=: 3: 0
glfont "ISIJ" 42 bold'
GN=:0

gmain Value

NB. gmain VA

TN =:0

NB. auto first digit =====
NB. gmain Value

NB. gmain VA

NB. gmain VB

)
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root_Start_button=: 3 : 0
wd 'set InN *, (": N)
gstart "

TN =:1

)

root_Next_button=: 3 : 0
wd 'set InN *, (": N)
GN=GN+1

gnext "

)

gsub=:3:0

TPN' =y.

J =N+ (101)

K=N+N+J

P=.100*P

Q=N"J

R=P+Q

S=Q+R+ (NN)

(50, (1070-GN*280)) gwr , J, N, N, K
(300, (1120-GN*280)) gwr P, Q, R, (N*N), S
K, S, (R'N)

)

gmain =: 3:0

VO = x:y.
A_init =. 1000 #.~:(_1) VO
AO =:{. A_init

NB. initial value display
gllines 590 955 970 955
gllines 570 920 590 955

NB. gllines 877 960 877 930
NB. gllines 807 960 807 930
NB. gllines 732 960 732 930
NB. gllines 650 960 650 930

NB. 3-keta gotoni kugiru ==== 11/17 ===========
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NB. From X = Kmx upto Left, Set Kugiri Lines
Km = #"VO0

Kmm=.> Km% 3

Kmx =. 600 + 25 * Km

NB. Kmx =. 880

Kx =:,. Kmx - 76 * (i. Kmm)

KK =. Kx,"(1) 960,"(1) Kx,"(1) 900

KKK =. <"(1) KK

gllines L:0 KKK

NB. Display Initial Value
600 950 gwr0 VO

)

gstart =: 3: 0

A_init =. 1000 #.~:(_1) VO
A0 =.{. A_init

AO01 =: }. A_init

NB. first digit applicant ==================
NB.NO=:_1i"*A0-CU NB. calc. from CU table
NO =: N NB. input from editbox InN

50 950 gwrO NO

50 900 gwrO (3*NO)

300 950 gwr0 (NO*NO)

300 900 gwr0 (3*NO*NO)

NB. N =: NO

RNO =. NO { CU NB. revised
A02 =: A0 - (NO { CU) NB. revised
Ketma =: #": VO

Ketm =: 3 | Ketma

A10 =.{ AO1

All =:}. AO1

Al = (A02*1000) + A10
I =: (3*N0), (3*NO*NO)

600 900 gwr0 RNO
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gnext=:3:0 NB.revised 11/17 ================
NB.wr 'GN =",": GN

gllines 50, (855-(GN-1)*280), 900, (855-(GN-1)*280)
KetO =. (# ": AO)

Ket =. (3"GN) + KetO

NN =: NN, N NB. from editdox InN

SUB =. gsub II, N

RN =. {: SUB

II=:}:SUB

A20 =.x: A1 - RN

(600, (1120-GN*280)) gwrOk A1, Ket
(600, (1020-GN*280)) gwrOk RN, Ket
(600, (970-GN*280)) gwrOk A20, Ket

if. 0 = # Al1 do. goto_fin. end.

Al =:x: (A20*1000x) +{. A1l

All =} Al1l

label_fin.

NB. 'Cubic Root ="', ((":NO), (":NN)) -. "
CuR =. ((":NO), (":NN)) -. "

wd 'set CbRt ™, CuR

)
gwr=:3:0

DA =y.
'GX GY' = x.
[=0
while. [ < #DA
do.
gltextxy GX, (GY-I'50)
Keta=.>./> 10~ DA
gltext Keta ": I{DA
I=1+1
end.
glshow "

)

gwr0=:3:0
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DA =y.
'GX GY' = x.
[=0
while. I < #DA
do.
gltextxy GX, (GY-I"50)
if. 0 > [{DA
do.
glrgb 2565 0 0
gltextcolor "
else.
glrgb 0 0 O
gltextcolor "
end.
gltext ": I{DA
I=1+1
end.
glshow "

)
gwrOk =:3:0

'DA Keta' =. y.
'GX GY' =. x.
[=0
while. I < #DA
do.
gltextxy GX, (GY-I'50)
if. 0 > I{DA
do.
glrgb 2565 0 0
gltextcolor "
else.
glrgb 0 0 O
gltextcolor "
end.
gltext Keta ": [[DA
I=T1+1
end.
glshow "

)



root_InN_button=: 3 : 0
N =:".InN
)

root_InValue button=: 3 :0
Value =: ". InValue

)
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